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Lesson 1-6

Example 1: Problem Solving
The Redburn family is planning to go to the movies. They spend

$21.75 on snacks for the whole family. If there are 5 people in the -
family, how much did it cost per person to attend the movies if

they spent $43 total?
o Lot Yy3 = 2175+5¢
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Kailee made a total of $485 last week. Her boss included a $100
bonus in that total amount. If she worked 25,1{ast weel, how much

money did she make per hour?
e 455 = [0+ 251,

§ We Do/You Do
435 |5, Y4

¥ oo 2.5(38\5.0 \&16./'/0
¥355 —23b

[35
-125

[O0D




1-6 Notes.GWB - 2/2 - Tue Sep 18 2018 09:44:36

Lesson 1-6

Example 2: Solving Two-Step Equations

Solve.
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